南开大学入学测试机考

专升本 高等数学 复习模拟题

1、题目Z1-2（2）（        ）
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标准答案：A

2、题目20－1：（2）（        ）
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标准答案：A

3、题目20－2：（2）（        ）
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标准答案：B

4、题目20－3：（2）（        ）
[image: image4.png]BEH ) v TR, B y=uoven Wy FF O
A o)+ () B uv)-uChv'od
C OO+ D utarey




   A．A

   B．B

   C．C

   D．D

标准答案：A

5、题目20－4：（2）（        ）
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标准答案：D

6、题目20－5：（2）（        ）
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标准答案：D

7、题目20－6：（2）（        ）
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标准答案：A

8、题目20－7：（2）（        ）
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标准答案：D

9、题目20－8：（2）（        ）
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标准答案：C

10、题目11－1（2）（        ）
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标准答案：C

11、题目11－2（2）（        ）
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标准答案：B

12、题目11－3（2）（        ）
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标准答案：A

13、题目20－9：（2）（        ）
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标准答案：C

14、题目11－4：（2）（        ）
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标准答案：D

15、题目11－5（2）（        ）
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标准答案：C

16、题目20－10：（2）（        ）
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标准答案：B

17、题目11－6（2）（        ）
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标准答案：B

18、题目11－7（2）（        ）
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标准答案：C

19、题目11－8（2）（        ）
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标准答案：C

20、题目11－9（2）（        ）
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标准答案：D

21、题目11－10（2）（        ）
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标准答案：B

22、题目19－1：（2）（        ）
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标准答案：C

23、题目19－2：（2）（        ）
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标准答案：B

24、题目19－3：（2）（        ）
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标准答案：D

25、题目12－1（2）（        ）
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标准答案：D

26、题目12－2（2）（        ）
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标准答案：D

27、题目19－4：（2）（        ）
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标准答案：B

28、题目12－3（2）（        ）
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标准答案：B

29、题目12－4（2）（        ）
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标准答案：C

30、题目12－5（2）（        ）
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标准答案：A

31、题目19－5：（2）（        ）
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标准答案：C

32、题目12－6（2）（        ）
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标准答案：A

33、题目12－7（2）（        ）
[image: image33.png]) WEREH, W[5 GaFTF ()
2 i(3)-s0 B 2[/[3—/@}

1] (1
CE[/[E]’/(U)} D j@-5O




   A．A

   B．B

   C．C

   D．D

标准答案：B

34、题目19－6：（2）（        ）
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标准答案：B

35、题目12－8（2）（        ）
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标准答案：B

36、题目19－7：（2）（        ）
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标准答案：B

37、题目12－9（2）（        ）
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标准答案：A

38、题目12－10（2）（        ）
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标准答案：C

39、题目19－8：（2）（        ）
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标准答案：D

40、题目19－9：（2）（        ）
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标准答案：A

41、题目19－10：（2）（        ）
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标准答案：C

42、题目18－1：（2）（        ）
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标准答案：A

43、题目18－2：（2）（        ）
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标准答案：C

44、题目18－3：（2）（        ）
[image: image44.png]BT - Mg, - L2020 25 ()

Ae B -2 C -2e? D -4




   A．A

   B．B

   C．C

   D．D

标准答案：D

45、题目13－1（2）（        ）
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标准答案：D

46、题目18－4：（2）（        ）
[image: image46.png]Wro=1en+e’ s fO FE =0 ALAITIETTIER O
Adxytl=)  Blwty-l=0  Clxbytl=0 D Ixy-1=0





   A．A

   B．B

   C．C

   D．D

标准答案：A

47、题目13－2（2）（        ）
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标准答案：B

48、题目13－3（2）（        ）
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标准答案：D

49、题目18－5：（2）（        ）
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50、题目13－4（2）（        ）
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标准答案：B
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